Hello Mr. Kao, I am selecting you for this assignment because you did my first post this morning and this post is the remaining problem of the first one, so I will attach the answer you provided for my first post, because is related to answer question 6 in this post. So please check on both attachment, I will select you for more assignment for the next 9 months to come, I like your work.  I need help to solve problems: 4, 5, and 6
  
4). During the past five years, you owned two stocks that had the following annual rates of return:

	Year
	Stock T
	Stock B

	1
	0.19
	0.08

	2
	0.08
	0.03

	3
	- 0.12
	- 0.09

	4
	- 0.03
	0.02

	5
	0.15
	0.04


a. Compute the arithmetic mean annual rate of return for each stock. Which stock is most desirable by this measure?

b. Compute the standard deviation of the annual rate of return for each stock. (Use Chapter 1 Appendix if necessary.) By this measure, which is the preferable stock?

c. Compute the coefficient of variation for each stock. . (Use the Chapter 1 Appendix if necessary.) By this relative measure of risk, which stock is preferable? 
d. Compute the geometric mean rate of return for each stock. Discuss the difference between the arithmetic mean return and the geometric mean return for each stock. Discuss the differences in the mean returns relative to the standard deviation of the return for each stock.

5). A stockbroker calls you and suggests that you invest in the Lauren Computer Company. After analyzing the firm’s annual report and other material, you believe that the distribution of expected rates of return is as follows: 
	LAUREN COMPUTER CO.

	Possible Rate of Return 
	Probability 

	- 0.60
	0.05

	- 0.30
	0.20

	- 0.10
	0.10

	0.20
	0.30

	0.40
	0.20

	0.80
	0.15


Compute the expected return [ E (Ri) ] on Lauren Computer stock.
6). Without any formal computations, do you consider Madison Beer in Problem 3 or Lauren Computer in Problem 5 to present greater risk? Discuss your reasoning.
